
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

2nd Month, 3rd Week, 1st Day Exercise 1.15 Q # (8 to 15)

 Answer the following questions:  
Q.1. Naveed purchased a shop of worth Rs. 6,500,000. He paid property tax

worth Rs. 520,000. What is the rate of property tax?       (1x2=2)

 520,000  6,500,000 


Q.2. Ali sold a plot for Rs. 5,000,000 by an agent who received 2.5%

commission. Find amount of commision.      (1x3=3)

 2.5%  5,000,000 


Q.3. Waqar purchased ten packets of biscuits for Rs. 350. He paid VAT of

Rs. 42 on ten packets. Find the rate of GST on these packets.      (1x2=2)

 VAT  42  350 


Q.4. An online car service charges 20% commission from its drivers on each

ride. If a driver got Rs. 5000 from all rides in a day. Calculate how

much commission did he pay to car service?      (1x3=3)

 20 
 5000 
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